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1. Evaluate the limits: (%28 8%")

(a) Tim 22 + 5z +6
z——2 T+ 2 '

(b) lim (—\/—_—ﬂ> :

z—2+ Tz —2

2. Find the derivatives Z—m of the following: (#1~#84%")

(a). y = e®(z% + 1).
(b) y = (1 —x)"
(c) 2%+ 2zy +y* = 3.

1
3. Find the equation of the tangent line (¥7%%) to the curve y = 2 —_F at (6,7). (10%)
4. Calculate the approximate value of +/99.4 by using the total differential. (69°)
5. Find all extreme value(s) (#44) of y = z — cosz on the interval [0, 27]. (10%-)
Z .
6. Find the relative extreme value(s) (#4#) of f(z) = / (t* + 2t)dt — 3z. (10%-)
-3

7. Evaluate the following:(#/]*#88%")

(a) / (% - ;;2' + 43:3) dz.
(b) /0 C2(1— )My,
(c) /mlnx dx






